~
P

Anvil Single Workspace
Assembly Instructions




Anvil Single Workspace

Components List

\
\

=

Axis Worktop IxL&R Leg Pair 1 x Pair AXKDBRAC 1 x Pair AXKDSPIGE

\\

N

ﬂ
—

1x Rail 8 - M6 x 20 4 - M8 x16 6 -STox23 6-ST5x70

2 oG Single Workspace Assembly Instructions



Anvil Single Workspace

Assembly Instructions

STEP1:

8 - M6x20

(/

&

Z U
Y

ce Assembly Instructions OLG 3



Anvil Single Workspace

Assembly Instructions

STEP 2:

- ~
/7 AN
Yz : BN
4-M8x16 / N

4 OLG  Anvil Single Workspace Assembly Instructions



Anvil Single Workspace

Assembly Instructions

STEP 3:

8 - M6 x 20 /7 i N

2 - M6 x 20

ce Assembly Instructions OLG 5



Anvil Single Workspace

Assembly Instructions

Complete:

L\

ce Assembly Instructions




Optional Studio50 Desk Hung Screen

Assembly Instructions

AUSTRALIAN MADE

Studio50
Screens are
Australian
Made.

ce Assembly Instructions OLG

7



Optional Studio50 Desk Hung Screen

Assembly Instructions

STEP1:

Note: Clamp can accomodate 25mm and 75mm thickness by rotating highligthed
section of clamp in Fig. 1

8 OLG  Anvil Single Workspace Assembly Instructions



Optional Studio50 Desk Hung Screen

Assembly Instructions

STEP 2:

ce Assembly Instructions

oG

9



Optional Studio50 Desk Hung Screen

Assembly Instructions

STEP 3:

10 OLG Anvil Single Workspace Assembly Instructions



Optional Studio50 Desk Hung Screen

Assembly Instructions

Complete:

ce Assembly Instructions

oG

n



Optional Axis Standard Hung Screen

Assembly Instructions

Standard Screen Bracket:
AX77SCR00

Recommended
2 - person Step

12 OLG Anvil Single Workspace Assembly Instructions



Optional Axis Standard Hung Screen

Assembly Instructions

STEP1:

ce Assembly Instructions

oG 13



Optional Axis Standard Hung Screen

Assembly Instructions

STEP 2:

14 oG I ngle Works Assembly Instructions



Optional Axis Standard Hung Screen

Assembly Instructions

STEP 3:

ce Assembly Instructions OLG 15



Optional Axis Standard Hung Screen

Assembly Instructions

Complete:

16 OLG I ngle Works Assembly Instructions



Optional Axis Offset Hung Screen

Assembly Instructions

Standard Screen Bracket:
AX77SCR955

Recommended
2 - person Step

ce Assembly Instructions

oG 7



Optional Axis Standard Hung Screen

Assembly Instructions

STEP1:

18  OLG Anvil Single Workspace Assembly Instructions



Optional Axis Offset Hung Screen

Assembly Instructions

STEP 2:

J

A

/

ce Assembly Instructions

oG 1w



Optional Axis Standard Hung Screen

Assembly Instructions

STEP 3:

20 OLG Anvil Single Workspace Assembly Instructions



Optional Axis Offset Hung Screen

Assembly Instructions

Complete:

ce Assembly Instructions

oG

21



th Metal Modesty Panel

is wi

Optional Ax

Assembly Instructions

111717/
111177
1111177
s
1111777
s
1171777
111717/
111177
1171777
1711177
1//7/77
1111777
171117/
1171777
111177

Assembly Instructions

22



th Metal Modesty Panel

is wi

Optional Ax

Assembly Instructions

STEP1

11177777
111777717
177717777
1/77/777
1/7/7777
/171771777
1/7/7777
/7177777
11707777
17777777
1/77/777
11177777

17111777
/17771777
17777777

23

oG

Assembly Instructions



th Metal Modesty Panel

is wi

Optional Ax

Assembly Instructions

STEP 2

Assembly Instructions

24



th Metal Modesty Panel

is wi

Optional Ax

Assembly Instructions

Complete

1171777
111117
1//1/7/
7/7/7/7
111177/
7171117
1/1//77
/171777
117777
1171777
171717/
7471777
1717777
101117/
1177171/
1177177

25

oG

ce Assembly Instructions



Optional Axis with Melamine Modesty Panel

Assembly Instructions

26 OLG Anvil Single Workspace Assembly Instructions



Optional Axis with Melamine Modesty Panel

Assembly Instructions

STEP1:

bace Assembly Instructions

oG 27



Optional Axis with Melamine Modesty Panel

Assembly Instructions

STEP 2:

28 OLG Anvil Single Workspace Assembly Instructions



Optional Axis with Melamine Modesty Panel

Assembly Instructions

Complete:

ce Assembly Instructions

oG 29



Optional Cable Dump Tray with Top Lip Fixing

Assembly Instructions

30 OLG Anvil Single Workspace Assembly Instructions



Optional Cable Dump Tray with Top Lip Fixing

Assembly Instructions

STEP1:

ce Assembly Instructions

oG

31



Optional Cable Dump Tray with Top Lip Fixing

Assembly Instructions

Complete:

32 OLG Anvil Single Workspace Assembly Instructions



Optional Cable Dump Tray with Side Fixing

Assembly Instructions

\

ce Assembly Instructions OLG 33



Optional Cable Dump Tray with Top Lip Fixing

Assembly Instructions

STEP1:

34 OLG I ngle Works Assembly Instructions



Optional Cable Dump Tray with Side Fixing

Assembly Instructions

Complete:

/

bace Assembly Instructions

oG 35



1

Sydney 02 8188 2732
Melbourne 03 9111 0315
Brisbane 07 37331923
Adelaide 08 7111 0810
Perth 08 9468 2707

info@olgoffice.com

myolg.online | olgoffice.com | officedesigner.net | motionoffice.com



